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|Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

R

Fill in the blank with appropriate connector.

Readily soluble in sulfuric and nitric acid, mercury is birth defects can easily result from its ingestion by pregnant women.

Answer ( Please select your correct option ) MSM

so poisonous that

c COrrect

such poisonous that

too poisonous that

very poisonous that

) Yh)ade by: Y4/aqar Siddhe




|Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

R

Read the cause in the given situation and choose the effect.

I ran as fast as I could, passing all the other runners in the race. I wasn't even tired, either.

Answer ( Please select your correct option ) MSM

I won the race.

2 COrrect

I came in last place in the race.

I decided to run the last lap of the race again.

I stopped at the store for a snack, since I was ahead of everyone else.

) Yh)ade by: Y4/aqar Siddhe




|Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

R

Identify the grammatical error in the following sentence.

"Our society's fascination with celebrities lives has resulted in recent stalking incidents."

Answer ( Please select your correct option ) MSM

Subject-verh agreement error

Punctuation error

Pronoun-antecedent agreement error

Apostrophe error

o correct

YNade by: YWaqar Siddhu




|Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) E'

-~

Complete the sentence by choosing the hest option.

Sarah wished to attend the dance party she did not have a proper dress.

Answer ( Please select your correct option ) MSM

, but @@
il ONade by: YYaqgar Siddhe




|Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

R

Choose the correct option.

""Whereas, no one could believe that she had married him."

Answer ( Please select your correct option ) MSM

It is a comma splice.

It is a compound sentence.

It is a compound-complex sentence.

It is a sentence fragment.

) comect (YY)ade by: Y4/aqar Siddhe




|Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) E'

R

Find the cause/effect word(s) in the sentence helow:

He saw starving children, therefore he helped.

Answer ( Please select your correct option ) MSM

starving
& correct
helped
~
” saw
therefore
) 8
| YNade by: YW aqar Siddhu




|Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) E'

R

Fill in the blank with appropriate verb given helow.

She ......... on trying to pass her driving test but fails every time.

Answer ( Please select your correct option ) MSM

had kept

is keeping

keeps

c COrrect

kept

) Yh)ade by: Y4/aqar Siddhe




|Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

-~

Read the sentence and choose the appropriate option.

Before the hall, the imposter ......... himself so the guests wouldn't recognize him.

Answer ( Please select your correct option ) MSM

disliked
P
dissembled
g correct
disengaged
o
disassembled
P
YNade by: YW aqar Siddhu




|Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

-~

Read the sentence and choose the appropriate option.

During the middle ages, men often fought each otherina ......... in order to settle serious disagreements.

Answer ( Please select your correct option ) MSM

doll

dial

duel

dual

) YD)ade by: Y4/aqar Siddhe




|Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the correct option.
The first time you London was in 1963, wasn't it?

Answer ( Please select your correct option ) MSM

visited

visit

have visited

was visiting

) YD)ade by: Y4/aqar Siddhe




|Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

Choose the correct option in the following. —

A is the expression of the meaning of a passage in a different way:.

Answer ( Please select your correct option ) MSM

paraphrase

elaborative writing

detailed description

gist

) YD)ade by: Y4/aqar Siddhe




|Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Fill in the blank with appropriate verb given helow.

In Europe, a definite system of locating the annual cuttings in the management of communal and government forests because under this system the forests can he so
organized that an approximately equal yield is secured each year.

Answer ( Please select your correct option ) MSWM

will have extensively used

has extensively used

is extensively used

extensively uses

) YD)ade by: Y4/aqar Siddhe




|Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the hest answer from the given options.

It was an expensive vase they bought it to please their mother.

Answer ( Please select your correct option ) MSM

but

either

neither

) YD)ade by: Y4/aqar Siddhe




|Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Choose the hest answer from the given options.

Those thugs should he arrested they will continue to terrorize the residents here.

Answer ( Please select your correct option ) MSM

and

but

or

) YD)ade by: Y4/aqar Siddhe




|Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Fill in the blank with an appropriate word given helow.

(California is an interesting place hecause one can find people from all of life living together in harmony.

Answer ( Please select your correct option ) MSM

works

forms

results

walks

) YD)ade by: Y4/aqar Siddhe




|Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the hest option.
The dressed woman is my mother.

Answer ( Please select your correct option ) MSM

attractive

attractively

attraction

attract

) YD)ade by: Y4/aqar Siddhe




|Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the correctly spelled word from the given options:

Answer ( Please select your correct option ) MSM

Commitee

Commite

Committee

Comittee

) YD)ade by: Y4/aqar Siddhe




|Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the correct spelling from the given options:

Answer ( Please select your correct option ) MSM

Vacinnate

VYaccinaate

Vaccinate

Vaccinnate

) YD)ade by: Y4/aqar Siddhe




|Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Choose the correct word or phrase to complete the following sentence.

I think I understand the nuts and of the operation.

Answer ( Please select your correct option ) MSM

holts

SCrews

nails

hammer

) YD)ade by: Y4/aqar Siddhe




|Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Choose the correct word or phrase to complete the following sentence.

Just a moment! I've got the answer on the of my tongue.

Answer ( Please select your correct option ) MSM

hack

tap

top

tip

) YD)ade by: Y4/aqar Siddhe




|Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Indicate the correct form of verb in the sentence given helow.

He plays the piano in a jazz club.

Answer ( Please select your correct option ) MSM

Infinitive

Past

Present

-ed

) YD)ade by: Y4/aqar Siddhe




|Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Indicate the correct form of verb in the sentence given helow.

The population has increased by 6% since 1970.

Answer ( Please select your correct option ) MSM

A ONade by: YYaqgar Siddhe




|Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

An opinion is a statement that cannot be ..............proved true or false.

Answer ( Please select your correct option ) MSM

successfully

subjectively

comprehensively

ohjectively

) YD)ade by: Y4/aqar Siddhe




|Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Identify the correct sentence with properly placed commas.

Answer ( Please select your correct option ) MSWM

The moral of the story is that people should alkways, as a result, treat one another with kindness.

The moral of the story is, that people should always, as a result treat one another with kindness.

The moral, of the story, is that people should always as a result treat one another with kindness.

The moral of the story is that people should always as a result treat one another with kindness.

) YD)ade by: Y4/aqar Siddhe




|Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Which word in the following sentence should contain an apostrophe?

My parents and their friends often visit each others houses.

Answer ( Please select your correct option ) MSM

other’s

friend’s

house’s

parent’s

) YD)ade by: Y4/aqar Siddhe




|Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Select the form of tense used in the sentence given helow.Choose the hest option.
Will she have heen working in this office since 20077

Answer ( Please select your correct option ) MSM

Present perfect continuous tense

Present perfect tense

Past perfect tense

Future perfect continuous tense

) YD)ade by: Y4/aqar Siddhe




|Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Fill in the blanks with appropriate preposition. Choose the best option.

The flight from Leipzig to London was Frankfurt.

Answer ( Please select your correct option ) MSM

abhove

along

to

) YD)ade by: Y4/aqar Siddhe




|Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) EI

-~

Choose the hest answer from the given options.

Those students ----------—-- to London tomorrow.

Answer ( Please select your correct option ) MSM

have gone

is going

are going

goes

) YD)ade by: Y4/aqar Siddhe




|Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) EI

-~

Choose the hest answer from the given options.

Members of Parliament are ------------ by the people.

Answer ( Please select your correct option ) MSM

represented

voted

nominated

elected

) YD)ade by: Y4/aqar Siddhe




|Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the hest option.

The first digital computer was not completed until ...........

Answer ( Please select your correct option ) MSM

1943

1944

1945

1946

) YD)ade by: Y4/aqar Siddhe




|Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

What are the major qualities of a well-written paragraph?

Answer ( Please select your correct option ) MSM

Elabhoration

Unity

Coherence

All of the above

) YD)ade by: Y4/aqar Siddhe




|Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Choose the correct option:
The agreement hetween a noun and its pronoun is related to number, person and gender, and is

called

Answer ( Please select your correct option ) MSM

reference

language

agreement

point of view

) YD)ade by: Y4/aqar Siddhe




|Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Choose the correct option:

The thesis statement is the sentence that contains the focus of the thesis. The thesis statement is just like the in a paragraph.

Answer ( Please select your correct option ) MSM

main hody

main idea

introduction

topic sentence

) YD)ade by: Y4/aqar Siddhe




|Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]]

s

Identify the missing punctuation in the given sentence.

John was angry and shouted at his son, “Go to your room now!"

Answer ( Please select your correct option ) MSM

comma

question mark

speech mark

full stop

) YD)ade by: Y4/aqar Siddhe




|Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Fill in the blank with appropriate choice. -

You don’t listen to anyone. Do __ you like.

Answer ( Please select your correct option ) MSM

like

as

of

) YD)ade by: Y4/aqar Siddhe




|Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Fill in the blank by choosing appropriate adverh.

You can open this tin.

Answer ( Please select your correct option ) MSM

easy

simple

easily

painless

) YD)ade by: Y4/aqar Siddhe




|Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Which word in this sentence is an adjective?
Maggie made mountains of mushy muffins.

Answer ( Please select your correct option ) MSM

made

mountains

mushy

muffins

) YD)ade by: Y4/aqar Siddhe




|Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Choose the hest option. -

The mixture of fast and slow moving vehiclesis the .................... of traffic problems.

Answer ( Please select your correct option ) MSM

worst

severest

strongest

greatest

) YD)ade by: Y4/aqar Siddhe




|Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Chose the hest option.
How money did they steal?

Answer ( Please select your correct option ) MSM

a little

few

much

many

) YD)ade by: Y4/aqar Siddhe




|Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) EI

s

Choose the hest option.

I went to the shop some chocolate.

Answer ( Please select your correct option ) MSM

for huying

for buy

to buy

bhuy

) YD)ade by: Y4/aqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Choose a suitable option to fill in the blank. =

I don't think these flowers are to New England. At least I've never seen them.

Answer ( Please select your correct option ) vuAn Swers COII].

exigent
F

fluent

indigenous

ingenuous

YNade by: YY/aqar Siddhu



Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which one of the following means ‘existing, in existence’? =
~
Answer ( Please select your correct option ) vuAn Swers com
Extempore
~
Extant
2 COMTeC!
Exuberant
~
Extensive e
YNade by: Yy/aqgar Siddhe




Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Choose the sentence with correct punctuation.

=

(1< |

Answer ( Please select your correct option )

VuAnswers.com

Carlos started school on Sept 8 2004.
~

Carlos started school on Sept 8; 2004.

Carlos started school on Sept. 8 2004.

Correct

(Carlos started school on Sept. 8, 2004.

YNade by: YY/aqar Siddhu



Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Identify the grammatical error in the following sentence. =

"Society's fascination with weight loss can he seen in the popularity of the diets such as: the Atkins diet and its variants."

Answer ( Please select your correct option ) vuAn Swers COII].

Apostrophe error
F

Punctuation error
C
COITeC

Faulty comparison

Parallelism error

YNade by: YY/aqar Siddhu



Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

=

Choose the correct option.

Sometimes oil to the surface to form tar pits.

Answer ( Please select your correct option ) vuAn Swers COII].

spills
> correct
seeps
&
penetrates
~
[pone oabon YNade by: Y/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Fill in the blank with appropriate verb given helow. =

No matter what happens next I ......... help you.

Answer ( Please select your correct option ) vuAn Swers COII].

will

F

correct

would

have

YNade by: YY/aqar Siddhu



Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Fill in the blank with appropriate verb given helow. =

They ......... for 3 hours when the storm suddenly bhroke.

j -
Answer ( Please select your correct option ) vuAnswerS COII]. I
will he running
~
are running
C
had been running
~
have b runnin ®
- YNade by: Yy/aqar Siddhu
| | COANFIREY



Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) E

Identify the grammatical error in the following sentence. =

"Created in the 1970s, some people think space shuttles are too old and should be scrapped."

Answer ( Please select your correct option ) vuAn Swers COII].

Dangling modifier

F

Comma splice

Apostrophe error

. —_ OMade by: Yaqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) E

Read the sentence and choose the appropriate option. =

The dark, eerie and ......... sky seemed to speak to general McKenney ahout the upcoming violence they were ahout to face.

Answer ( Please select your correct option ) vuAn Swers COII].

forfeit
~
formidable
&
foreboding
) correct
i YNade by: Yy aqar Siddhe




Question No : 10 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Fill in the blank with appropriate verb given helow.

| [ complete silence now while I try this experiment.

=

Answer ( Please select your correct option )

VuAnswers.com

have wanted
F

did want

am wanting

| © | correct

YNade by: YY/aqar Siddhu



Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Choose the correct option.

=

Answer ( Please select your correct option )

VuAnswers.com

We've been here since two hours.
~
Its two hours we are here.
&
We've been here for two hours.
~
COMMEC
We are here since two hours. -t
. YNade by: YYaqgar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the correct placement of comma in the given sentence. =

Even though she was very tired Jane still managed to complete the course.

Answer ( Please select your correct option ) vuAn Swers COII].

. though
| correct  YDade by: YWaqar Siddhe




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) E

Fill the gap by choosing the hest answer.

Thai cuisine is one of the most romantic of the Asian cuisines as it still ......... an element of mystery and exoticism.

Answer ( Please select your correct option ) vuAn Swers COII].

F

regains
refrains
retains
COTecl
remains

YNade by: YY/aqar Siddhu




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Fill in the blank with appropriate verb given helow. =

To Darwin we that has made the interrelations of organisms central in modern natural history.

Answer ( Please select your correct option ) vuAn Swers COII].

have owed the change

F

owe the change

¢ correctt

owing the change

have owed the change

YNade by: YY/aqar Siddhu



Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) E

Choose the hest answer from the given options. =

Those thugs should be arrested they will continue to terrorize the residents here.

Answer ( Please select your correct option ) vuAn Swers COII].

" but @@
o| " YNade by: Yy/aqar Siddhu




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Fill in the blank with an appropriate word given helow. =

""We need to start looking for other jobs soon. Management said that they are going to streamline the company and one of the most popular johs to outsource its telephone-based
customer service. I can put two and two I think we are going to be laid off," Tommy told Julia.

Answer ( Please select your correct option ) lvlu.A,Il Swers COII].

. together @@
o YNade by: Yy/aqar Siddhu




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Choose the correct punctuated sentence. =

Answer ( Please select your correct option ) vuAn Swers COII].

F

The poem, which runs to fourteen hooks is often dull and prosy.

The poem, which runs to fourteen hooks, is often dull and prosy.

correctt

The poem which runs to fourteen hooks, is often dull and prosy.

The poem, which runs to fourteen hooks; is often dull and prosy.

YNade by: YY/aqar Siddhu



Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) E

Identify adverb in the given sentence. =

Emily worked briefly on her report.

f2
Answer ( Please select your correct option ) vuAnswerS COII]. I
Report
Briefly
g correct
Her
o YNade by: Yyaqar Siddhe




Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Choose the correct option.
An introduction of an essay has purposes.

=

Answer ( Please select your correct option )

VuAnswers.com

F

four

SIX

COrmect

eight

YNade by: YY/aqar Siddhu



Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Fill in the bhlank with the most suitable phrasal verh.

The band is bringing .......... a new album in the new year.

Answer ( Please select your correct option )

VuAnswers.com

over
F

down

out

COrrect

up

YNade by: YY/aqar Siddhu



Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the correctly spelled word from the given options: =

Answer ( Please select your correct option ) vuAn Swers COII].

F

Posession
Possession
COFTreC
Possesion
Posesion

YNade by: YY/aqar Siddhu



Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Min) (=l

Ali asked him, "How did you solve the problem ?"

Choose the hest option from given Direct and Indirect speech sentence.

=

Answer ( Please select your correct option )

VuAnswers.com

Ali asked him how he has solved the problem.
~

Ali asks him how he has solved the problem.

Ali asked him how he had solved the problem.

Ali asked him how did you solve the problem.

_Dade by: YWaqar Siddhe



Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Choose the hest option from the following Direct and Indirect speech. =

The shopkeeper said, " This is the latest model."

Answer ( Please select your correct option ) vuAn Swers COII].

The shopkeeper said that that is the latest model.

E correct

The shopkeeper said that that was the latest model.

The shopkeeper says that that was the latest model.

The shopkeeper says that this was the latest model.

YNade by: YY/aqar Siddhu



Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Choose the hest meaning for the underlined word. =

Manic depression is an emotional disorder in which the patient alternates hetween feeling delightfully euphoric and being plunged into deep gloom.

Answer ( Please select your correct option ) vuAn Swers COII].

Bored
~
Overjoyed
& correct
Exhausted
~
S i YNade by: Y/aqgar Siddhu




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) E

Choose the most appropriate answer from the options given helow. =

Unlike the human heings, a computer has no

Answer ( Please select your correct option ) vuAn Swers COII].

frequency
~
seed
&
strength
~
P cormect  (YD)ade by: Yy/aqar Siddhy



Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) E

Identify the best answer which is not a synonym for the word 'relationship’. =
—~
Answer ( Please select your correct option ) vuAn Swers com
Filiations
~
Nescience
&
COrMeCU
Affinity
~
Homology b e l,
YNade by: YY/aqar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Choose the correct topic for the following thesis statement: =

Women are likely to live longer than men for two reasons: they lead less stressful lives and they look after their health.

Answer ( Please select your correct option ) vuAn Swers COII].

Women live longer than men

c COrrect

Men take care of their health more than women do

None of the above

Women live more stressful lives

YNade by: YY/aqar Siddhu



Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the hest answer from the given options. =

You must have heen daydreaming sleeping in class again.

Answer ( Please select your correct option ) vuAn Swers COII].

neither...nor
p

either...or

c COrrect

neither... or

bhoth...or

YNade by: YY/aqar Siddhu



Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the correct option. =

An essay differs from a in being less elabhorate and from a pamphlet in heing lighter and more pleasant in tone.

Answer ( Please select your correct option ) vuAn Swers COII].

thesis
F

brochure

bhooklet

o™ — ODade by: YYaqar Siddhu




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Identify the grammatical error in the following sentence. =

"According to scientists, the withdrawal symptoms for caffeine are not as severe as other drugs."

Answer ( Please select your correct option ) vuAn Swers COII].

Faulty comparison

& correct

Punctuation error

Pronoun reference error

Subject-verb agreement

YNade by: YY/aqar Siddhu



Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the bhest option. =

A paragraphis aseries of ..............about one main thought, idea or point.

Answer ( Please select your correct option ) vuAn Swers COII].

phrases

F

clauses

words

sentences

YNade by: YY/aqar Siddhu



Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=l

Choose the correct preposition from the following sentence:

Come the sitting room, we want to watch TV. j

Answer ( Please select your correct option ) vuAn Swers COII].

F

to
on
into
correct
n

YNade by: YY/aqar Siddhu



Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) EI

Fill in the blank with appropriate word form by choosing the best option. =
Due to in foreign investment, the leather goods business is declining day by day.

Answer ( Please select your correct option ) vuAn Swers COII].

reduction
< COIrrect
reduce
&
reduced
~
| YNade by: Yy aqar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) E

Choose the hest answer from the given options.

o

Parents are often disappointed when their children don’t ----------- them.

F

=
Answer ( Please select your correct option ) vuAn Swers COII]. I
obedience
ohediently
ohey
COMEC!
obedient

YNade by: YY/aqar Siddhu



Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) E

Choose the correct passive form. =

Answer ( Please select your correct option ) vuAn Swers COII].

The homework must be done by tomorrow.
~
COMeCU

The homework will be done by tomorrow.

The homework was done by tomorrow.

The homework would be done by tomorrow.

YNade by: YY/aqar Siddhu



Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) E

Choose the hest answer from the given options.

o

Sorry, I can’t repay you this week. I am completely --------- :

Answer ( Please select your correct option ) vuAn Swers COII].

F

dead

broken

broke

—— o Yade by: Yy/aqar Siddhu



Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) =l

Choose the correct option: =
We're very busy. You will have to wait. You patient.

Answer ( Please select your correct option ) vuAn Swers COII].

must read
F

mustn't lose

must bhe

2 Correct

must hurry

YNade by: YY/aqar Siddhu



Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Identify the voice of given sentence. =

Lots of houses were destroyed by the earthquake in 1906.

Answer ( Please select your correct option ) vuAn Swers COII].

Both
~

Active Voice

Passive Voice

2 correct

None
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Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) E

Chose the correct option from given list. =

We often see our cousins Easter.

Answer ( Please select your correct option ) vuAn Swers COII].

[owm —
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Question No : 40 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the hest option.

to school yesterday?

=

Answer ( Please select your correct option )

VuAnswers.com

Do you walk
~

correct

Did you walked

Did you walk

Have you walked
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